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going to ruff the second diamond. However, as Marshall

Cha rg& has observed, East would have no reason to play the six

from tour small in this situation. Even if West is trying to

AGQ@“ nt build a tence around partner by playing a club, so that East

cannot make an unfortunate duck with AJxxx of clubs,

b there (s just no reason not to cash the diamond ftirst.
s T Should East have saved the day atter his partner made
= David J. Weiss the wrong play? His club continuation would have been

necessary if West had the hand proposed earlier, with
Axxxxx of diamonds and a singleton club. True, the club

North lead might have been more attractive with that hand, but

S—KQiJ6s perhaps, thought East, bidding hearts and clubs, then

H-—void doubling spades, suggested diamond shortness to my

West D—Qi7 East partner, and he was considering giving me a ruft or two.

S—73 C—Qu852 S—void He changed his tack when he saw his queen of hearts was

; H—10965 H—AKB87432  not are-entry, and anyway, he could still expect two club

D—aAKSY53 Seuth D—64 rufts if my diamond was a singleton.

C—1luo . S—AINEL2 C-—Al73 Also on East’s mind was a possible extra undertrick,

H—QI usually a consideration when defending against a save.

D—1092 Why would his partner switch to a club if he did have both

C—K4 high diamonds? Must not the club be a singleton? While

. . East reahized that the club rutt could just as well have

, IMP scoring, E-W vulnerable come a trick later, now that it has been sought it must be
. East . South West *> Nerth taken at this point. .

P iH - is 2H 4H# On this tragic deal, East’s defense, while no better

C5C Pass sD 58 , inspired than his bidding, could have been right. West's

Dbl L Pass Puss Pass defense, on the other hand, could never have gained.

*Spade raise. shortness in hearts  West gets the charge.

Tricﬂ l: DA, T7.6,9. A R e T
CTrick 20 C10, Q. A, 4.

- Trick 3: C3,K, 6, 2.

- Declarer was now able to set up the club suit and pitch
i both of his remaining diamonds, so the defense had added
i the msult of —630 (0 the injury of missing their slam. It
I-mattered, because 5S doubled made at both tables in this
| match. Who gets the charge for the defensive disaster?

i Marshall Miles: “"Both defenders did several bad
~things. so | would apportion the blame 50-50. West
- should have bid three hearts, not two hearts. Aside from
i the patr selling out too cheaply. this bid made the defense |
L more difficult. West should have led the King of diamonds &
“rather than the ace. Even though the detenders may have i
-agreed. in general, to lead ace from ace-king, they should ¢
‘make exceptions when (a) leading partner’s suit, (b) 1}
“Jeading a suit supported by partner, (¢} in a cash-out situa- |
‘tion-—always against five-level contracts and higher,
occastonally against lower contracts, (d) from ace-king
doubleton..:in the first three situations, the ace is a likely
Tead without the King and 1t Will avoid the more likely ||
- ambiguity to lead the king. (Also, a third round ruff is.un-
- likely so that when West has KQUOxx and leads the king. |
-he won’t be trapped into continuing the suit into declarer's
Alx.) : ~ sl
Once West led the ace of diamonds (which he might ,
have done without the king). he should have continued
with the king. There are only two times when this could
tose——where declarer has 6-4-1-2 distribution so that a
clubirick would go away. or where declarer has 6-3-2-2
- distrsbution-with.- Ax of clubs. Buy East surely would not
play the sin of diamonds ‘from 10642 (with the AK of
vlubsy, or from [064 whatever his club holding might be.
_ Itlooks as though there can’t be much blame left tor |
- East: But he made a strange signal when he played the six ™~
ot‘diz'zn'wnd.s. Even if he thought West had the King, East -~
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QUi Iorudl R e rounc. and e had no reasn o en-
Tourzge & conlinua nm The costly error was to play ace
and anether club. East should either duch the cfub or shitt
o a dizmond. Despite West's unhelptul detense, he
woufd surely have fed « club originally with a singleton

and no king of diumonds. In tact, he almost has to have the
ace-hing ot diamonds not to lead a club on this bidding,
whatever his club holding nught be. (I ant assuming that
the detenders use tnferior methods so that leading the ace
of diamonds did not positively deny the king.)™

Steve Evans: East's defense on this hand seems incom-
prehensible. Certainly his partner hgy the AK of
diamunds. And it West had 2 clubs, feading a club attrick
3 way giving declarer the contract. Westwas likely, witha
singleton club. to lead it at trick one. and he probably
would have bid more as well. Wext should possibly cash
the diamond king at trick 2 (it's ditficult to construct a
hand where it would matter), but unless he knows his part-
ner iy an idiot, there is no reason to de so.™”

Given that both defenders bid so badly on this deal, itis
hard 0 see how they might have altered their detense
based en possible bids made with other hands. Could not
Weat have bid the way he did with xxx. Qxx, Axxxxx,
107 On the actual deal. the two heart bid was conserva-
tive. to say the deast. but East's double of 58 seems
bizune. We had better look at the justifications tor the
cards played: some hands can be solved without too much
reference to the bidding.

West's fead of a high diamond is normal enough. But
why dudn the comtinue the swit? His partaer's signal asked
hant o, and the shift would cost a trick whenever South
had both bluck aces. unless East had doubled with no
trumps. The trick that would get away would not be the

setiing trick. to be sure: but losing the rutf it East had. say.
ao ARxxxx, xx. Klxx. would blow g 200 point under-
trick. Notice that on the actual deal no harm is done it

three rounds of diamonds are played.

No, it is the club switch which has nothing to gain. The
ciub spoty West can see mean that ne cndpLi\ within the
st s Jooming, so the only geod that cun come of the shitt
s third round ruff if East has AKx. But this raff can wait
until after the diamond  has been cashed. vatess declarer is



